FITTING

4x4 ACCESSORIES

INSTRUCTION

PRODUCT : RECOVERY POINT

SUITE TO VEHICLE : TOYOTA FORTUNER2016 / REVO 2015

PART LISTS

@

/\
o
/

Bracket 6 mm. , 2 Pcs.

Bolt M12 x 1.5 x35 ,4 Pcs.

@

N
@JJ%

Bolt M10 x 1.25 x35 ,8 Pcs.

®

=

=3
59

Bush M12 x 1.5 x 55, 4 Pcs.

®

9

Washer M12 , 8 Pcs.

Washer M10 ,8 Pcs.

®

&

Nut M10 x 1.25 ,4 Pcs.

®

)
7

Bolt M12 x 1.25 x 35 ,4 Pcs.




	Recovrery  Point Revo 16 Layout1

